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�	(� &� ������ ���� ��� 
���	 ���	
� Xn
1
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j|Xk−1 = i)� ��� �� ��� ������� ����	������� Pr(X1)� ��� 
	��������� ����	�������
����
�� �� ��� $( ���	
� ����	����� n�������� 
���	 ����
�� �������� P (n)(Xn

1 =
xn

1 ) = P (n−1)(Xn−1
1 = xn−1

1 )axn−1xn� ���	� P (1)(X1) �� ��� ������� ����	��������
&� ��	���	 ������ ���� ��� �	�������� 
	��������� ���	�# �� ��� 
���	 ���	
�
�������� aij ≥ δ > 0� ��	 ���� δ ��� ���� ��� $( �� �		���
����� ��� ��������	�

����	������� �� ��� $( ���	
� �� � ��
��	 π � (π1, . . . , πN ) ���������� πA = π�
%� ���� 
�
�	� �� ���� ������ ������ ���� ��� ������� ����	������� P (1)(X1) = π�
���
� ��
���� P (n)(Xk) = π ��	 ���	� n ��� k� ���� �����
���� ���
����� ���
�������� ������� ���� �� ����	����� ��
���� ��� ��	����� 
	����������� P (n)(Xk)

����	�� �� π ���� �#
�������� 	��� ��	��� k )��� +��� ,-./� �������� )0�0* ��

��� -12*� %� ����	 ��	��� $(� 3��	���4 ����	 ������� ����	������� ���� �#
��������
	����
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	�����	� ���������� �������� 	
 ε ���!�� ������	������ /4

D�
	
 ��	 ����	 ���������� ��
 ��	 ����� �� 8# 	��	

���� ��	 ���
�	 �� ��	��
����	� �� ����	
 	.������ ��	 8�
��� �
��	
�� ��
 ��
�� � @�

	� 8�
���
,����� !@8," ����	�
 $%&(� ��	 @8, ��
	� �� 
	��
��	
 �� ��� ��

	� ����	�
!���	
 	�	�	���" ��
 ������ �
�������� �
���������	� !8# 	��	

���"� @�

	�
����	� �
	 
	��
��	
 �� ��	 ���	
 8,�  ���	 ��	 ������ �
��������� �
��������
���
�. B �� ���	� �
�� ��	 
	������� �� 8# 	��	

����

D��	�� ����	
 ���	
 ��	� �� ��	 
	�� �� ���� ���	
 Q
(n)
β 
	���	� ��	 �
���������

�	���
	 ��
��	
 �� ��	 @8, ���
�	 	��	

	
  ��� ��
��	�	
 β ���� n�	�	�	��
8, ���	
 ��1	���� *� ��	 ��������
��� �� ��	 8, ���
�	� ��	 ��
����� �
�������

���	� P (n)(Xk+1
k ) = P (2)(X2

1 ) ��
 Q
(n)
β (Y k+1

k ) = Q
(n)
β (Y 2

1 ) ��
 ��� k� ���	���	��
 	  ��� ���� ��	 ����	
 �� 	�	�	���� n� ��
 
	���	 �� P ��
 Qβ ��	 �
���������

���
�������� ��	
 ���	
 ��
 ��	�� ����	�� 
	��	����	���
��	 ���

 ����������  	 ��
�����	 ����	
�� ��	 	���
	 ��	������	� Sn� #�

����  �
��  	 ���� 
	��  ��� ���	
�	�� ��	������	���

���������	 
� $�# ���
�����(� &� ������ ��� ����������� Sn = (Xn
1 , Emb(n),

Ext(n)) �� �� ��
�	��
�� ������� ���� �� �� ��� 
�	��
��� ��
�	� �� ��� ����� ��
(�
��� ,-2/� ����� ��� 5� ����	���
� DKL(P (n)||Q(n)

β ) > 0 ��	 β > 0� 6�	 ��	
�
�
��� 
��� �� $�	'�� 
���	 ���	
�� Xn

1 ��� $% ��������� Emb(n)� ���� ���
���
���� 
�� �� ������������ ������ �� ��� ��7�	��� ��	��8

-� ��� 
��	 (P (2), Q
(2)
β ) 
�	� ��� ������� ��� �� 
����� ����	
 #���
������ ����


������

∀y2
1 ∈ X 2

(
P (2)

(
X2

1 = y2
1

)
> 0

)
⇒

( d

dβ
Q

(2)
β

(
y2
1

)∣∣
β=0

= 0
)
. !&"

0� ���	� �#���� � 
��	 �� ������ (i, j) ��
� ����

P
(
X2

1 = (i, j)
) �= Qβ

(
Y 2

1 = (i, j)
)
��	 ��� β90. !'"

��
 �
��� �� ��	�	 ����	�	���� �		 $9� ,�
� 9(�
��������  	  ���
 ���	 �� ��
	�� ���� )���������� %E' �
	 ��� ��	
�� 
	��
���

���	 ��
  ��� ���	�� �	 ������	
 ��
 ��� �
������� ��	�����
����� ���	�	� �� ���	
���
��
���	 
	�
	�	������� �� ��	 ���	
� ��
 	.����	� � ��	������	� ���� �
	�
�	
�	� ��	 8�
��� ��
	� �� ���	�� �� �	 
	�	�����	 �� ��������� ����	
��

	


	�	�
	���	� ����� ��.	��� ����� ��	 ��	������	�  ��� �	���	 ���	
�	��  �	�

	�
	�	����� ��	 ���	
 �� ���
� �
 �
���� �� ��.	��F��	G��	��� �
 ���	 ���	

-�������	� ������	
 �
�� ��	 ���	
�

� ����	
�� �� �������	� �����
�
���


#� ���� �	������  	 ���
�
��	 ��	 ����	�� �� 
��� 
��	 �� � �	���
	 �� ������
��� �� ���	
�	�� ��	������	��� +	 ���
� �� 	.�������� ��	 
	���������� �	� 		�

� *� �	������ �	 5,,6
 �� 	���� �	� �	 ����	(����� ����	 	�7���� �� ����	" ����� ��
�� �� �	� �������� ����� ���� �	���%!����� ���� ������
���� ���� ���#



/8 1# $����� ��� 2# $�������

��	�����
����� �������� �� ��	������	�� ���������� )���������� %E' ��
 ��	
����	
 ����
������  �
��� ��	 ��
��	�	
 β

In(0) = EP

[(
d

dβ
ln Q

(n)
β (yn

1 )
∣∣∣
β=0

)2
]

. !3"

��	� �� �	����� '�&�  	 
	
��	 ��� ����	
 ��
� 	.�
	����� ��
  
��	 �� �� �	
��
�� ��	 	.�	��	
 
	�����	 ������
 α ����	�
 �� ��
��	�	
 β �� ���� ��
� �� ��
	
����
�����	 ��
 ��	 ��	�����
���	
�


�
 ������ �	��������	 �	 �����	�������

����	
 ����
������ �� � ���
��	���� -������� ���� �
	-�	���� ���	�
� �� ��	�
�
	����� ��	�����
���� ��
 �� �	�	
�� �� ������ 
	�	����� ��
 	���������� ��

	.����	� ��	 ,
��	
�4�� �� 	
 ����
 ����	� ���� ��	 
	���
���� �� ����	
 ���
��
������� 1/In(β)� �� ��	 �� 	
 ����
 �� ��	 ��
����	 �� ������	
 	�������
�
�� β !-����������	 ��	������2	
�"� ����	
 ����
������ ���� ���	�
� �� ��	 �	�
�

��� �	
� �� �����
 	.������� �� ��	 /0 
��	
�	��	 dn(β) � DKL(P (n)||Q(n)
β ) =

β2In(0)/(2 ln 2) + O(β3)�  �	
	

DKL

(
P (n)||Q(n)

β

)
�

∑
xn
1 ∈Xn

P (n)(xn
1 ) log2

P (n)(xn
1 )

Q
(n)
β (xn

1 )
.

�
�� �	
	�  	 �		 ���� 2	
� /0 
��	
�	��	 �����	� 2	
� ����	
 ����
������� )��
������ ��	 �������	 �� ��� �
�	 �� �	�	
��� �� ���
� ��
 ��� ��	������	��  ��� 8#
	��	

��� ��
 �
���
�
� ���	
 ��
	� $9(� ��
 ���� ��	������	��� ����	
 ����
���
���� In(0) 
	�
	�	��� � �	
�	�� �	��
��� 
	��
����
 	-�����	�� �� ��	 /0 
��	
�	��	�
����	
 ����
������  �� ���� �
����	
 ��
 �	�����
���� ��	������2	
� $%3(�
��	 
	���������� �	� 		� ��	 ����	
 ����
������ 
��	 ��
 ��	�����
����� ���

������ �� ��	������	�� ���������� )���������� %E'  �� 	��������	
 �� $3(� #�  ��
	��	������� ��� � ���� ���� ��	������	�� �
	 ���1	�� �� ��	 �-��
	 4��� 0� �
 ���� �	��� ���� ������
� ���� �
� ����	
 ����

√
n� ��	�� limn→∞ β(n)n/

√
n =

∞� ��� �	 
	�	��	
 �
���
�
��� ����
��	���  �	
	�� ������
� ���� �
� ��� 	

����

√
n� ��	�� β(n)n/

√
n ≤ K < ∞� �	�
 �� ε��	��
	 ��	������	��� dn(β) < ε�%

���� 
	���� �	��� �� ���� ��	 ������
 ���� ��� �	 �	��
	�� �
�������	
 ��	
 ��	
��	�����
����� �����	� ����	� �� r

√
n� ,���	-�	����� ��	 �	-�	��	 �� 	��	
�


��� ��
��	�	
� β(n) ���� ���
���� 2	
� ��
 ε��	��
	 ����	�� ��
 ���� ��	
������������� 
��	 �	�
� �� 2	
�� 5�	 �� ���� ����� �� ���	� �	��	 �� 	������	
��	�����
����� �������� �� ��	 ����� �� β(n) → 0�

� 9���
 �� ���!��� ���� ����� �(���� � ������ ������	����� ������� β(n) ��� ��� ������"�
����	�� α(n) :�#�#
 ��� ����	������ �	�� �	� ����	� �����( ���������;# *�����

���������	� 	
 �����( ��������� �	�� �	� ��"������� 	!� ���!����� �� α(n) ��<���

�	� β(n) 	��� �� � �!����������"� 
���	� �	!���� �� log n#



$����� *�
	�����	� ���������� �������� 	
 ε ���!�� ������	������ /=


�� ���� ����

��	 �
���	� �� ��	��������� ��� �	 ��
�����	
 �� ��	 ����� ��� ������	��� �	�����
�
���	�

H0 : β = 0
H1 : β > 0. !6"

+	 ��� ���� ��
 ����� !��
 ��� �" β ��
 ��
�	 n� ��	 ���	�����
 
���� �	��  ���
�	�� ���������

1√
n

T
(n)
β0

(X) =
1√
n

ln
(
Q

(n)
β0

(X)/P (n)(X)
)
, !7"

�� � �	��������	
 >�����>���� �
���	��' ���� �
��	
��� ������� ����	
 ��	 0����
)��������� C�
������ !0)C" �� ��	 
	�	���
� ���� � �� �� -������� ��
 ��

	����
�����
	 �	��
��� �� 	��	

��� ����
����� ��	
����� �� ��	 ���	 8, ���	

��
	� ��
 ����� ����	� �� β�
#� ���� ���	� ��	 
	�	���
 �	
��
����	 ��� �	 �����	�	�� 
	��
��	
 �� ��	


	A	����� ��	G��	�� d2�  ���� ��
��	�
�2	� ��	 4;, ��
�	 �� �� ���
� ��	 �
���
������� �� 
	�	������ PD� �� � �������� �� ��	 ����	 ���
� �
���������� PFA�

PD = Q
(
Q−1(PFA) −

√
d2

)
.

@	
	� Q(x) = 1 − Φ(x) ��
 Φ(x) �� ��	 �
� �� � ����
�

 ��
��� ��
����	
N(0, 1)� 0�
�	 ����	 �� ��	 
	A	����� ��	G��	�� �����	� �	��	
 
	�	����� �

 	��	
 ��	�����
�����
��
���  	 ����	 ��	 0)C �
��	
�� ��
 ��	 @8, ��
	�  �
��� ��	 	��	

���

��
��	�	
 β ��
 ��	� 	.�	�
 ���� 
	����  ��� 
	��	�� �� ��	 
	�����	 ������
 α�

������� 
� $0)C �� ��	 004�(� :���	 !����
����� -;2� ��� ��'������� 	����
!7" �������� ��� ��
�� ����
����
 ��	������ )�! *� ����� ����	 ���� ��
�������
��� ��	 ������ �� β �
 �� �	��	 β2

√
n
(
T

(n)
β /n + β2I/2

) d−→ N(0, β2I) ����	 H0 !9"
√

n
(
T

(n)
β /n− β2I/2

) d−→ N(0, β2I) ����	 H1, !<"

���	� I �� ��� 6����	 ����	������ 	���� I = limn→∞ 1
nIn(0)� ��� d−→ �� ��� 
���

��	���
� �� ����	�������� ��� ����
���� 
�	��	���
� �� ���� 
��
������ ���
	����
�� ��� ��<�
���� 
��"
����

d2 =
(
√

nβ2I/2 +
√

nβ2I/2)2

β2I
= nβ2I.

� *� ���	������ �������
 ��� ��	���� 	
 ������� N(μ0, σ
2) "�# N(μ1, σ

2) �� ������ ���
���� ���
��� >�!�� >�!�� ��	���� ��� ��� �������	� ���
	������ �� �	�������� �� 
������� �� ��� ��?����	� �	�@����� d2 = (μ0 − μ1)

2/σ2 5,4
 ������� /6#
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=	���� 5�	 �� �����	
 ����	�  	 ���� �
���
	 � �
�	� ������	 �� ��	 �
���� ��	
>���������� �� ��	 �	�� ��������� ����� � �
�� ��	 ,	��
�� 0���� ��	�
	� !,0�"

�	 �� ��	 ���� ���� ��	 �	�� ��������� �� ����	 �� �	��� ����
� ��
��� �
��� �� ����
��	� 	.���	����� ��
�	����� �� ��	 �
	
������ ���	
 $%7� 0	��� ?( ��
 ����� �
������
 ��	�� �� ��	 �
��� �� ��	 ,0� ��
 8�
��� ������ $%H(� ��	 �	�� ��

��
����	 �� ��	 ���	�����
 
���� !7" �� ������	
 �� 	.���
��� !7" �� �����
 �	
�	�
 �
��� β ��
 
	���2��� ���� ��	 �	�
��� �	
� �� ��	 -��

���� �	
� ���������� ��	
����	
 ����
������ 
��	�

+	 �� 
	��
�����	 ��	 ���������� �� ��	 ��	�
	� �� �	
�� �� ��	 ������
 
���	

���� ��	 ��
��	�	
 β� 8��
�. 	��	

��� !���

��	 ��
���" 	�����	
 �� ��	
��	������	� ��� ���
�
��	 � �������	�
 
	���������� β = f(α) �	� 		� ����
-�������	�� #� �	�	
��� ��	 ������
 	��	

	
 �� 	��� ���	
 	�	�	�� ��� 
	�	�

�� ��� ����	 i ∈ X !	���� �		 ��	 ���� � � ���
��	� �� ����
	 %"� ����� ��	 	.�	��	

����	 �� ��	 
	�����	 ������
 ���� ��� �	 	��	

	
 �� 	��� ���	
 �� α(β) =∑

i∈X πiαi(β)�  �	
	 αi(β) ����
� ��
 ��	 ����	
 �� ���� ���� ��� �	 	��	

	

���� ����	 i ∈ X ��
 πi �� ��	 ��������
� 
���
������� �� ��	 8,� ��	 ����	 �� β
��
  ���� α �� ��.����  ��� �	 
	���	
 �� βMAX

βMAX = arg max
β

α(β).

��
 	.����	� ��
 �	
��
� ±1 	��	

��� βMAX = 2/3 ��
 αi(βMAX) = log2 3�
 ���	 ��
 ����
� ±1 	��	

��� βMAX = 1/2 ��
 αi(βMAX) = 1 !�		 ����
	 %
��
 ��	 ��

	����
��� ���
��	�"� C����	 ���� ��	 ���
�. C �� ��	 ���	 ��
 ����
	��	

��� �	���
�� ��	 ���� ��
��� 
�B	
	��	 �� ��	 
���	 �� ��	 ��
��	�	

β� +	 ���� 
	��
� ���� ���	�� ��� αi �
	 ��	 ���	� ��	 ��.���� ������
  ���

	�	�
 �� ��	 
���
������� �� ��
���
��� ����	� πi�
�� �������� ��
 �
���	����  	 �����	 � ���	�
 
	���������� �	� 		� β ��
 α

!	����  	 
� ��� �����
	
 �� ���� ���	
 ��	 	B	��� �� ���
�. 	��	

���"� ��	
	�
��
	�  	 ���  
��	

β = f(α) =
βMAX

αMAX
α, !?"

 �	
	 α ∈ [0, αMAX ] ��
 αMAX = α(βMAX ) 
	���	� ��	 ��	
��	 ����	
 ��
���� ���� ��� �	 	��	

	
 ���� ���	
 	�	�	��  ���	 	��	

���  ��� β = βMAX

!��.���� �����	 
��	"�
�
�� !?"� ��	 
	A	����� ��	G��	�� ��� �	 	.�
	��	
 �� �	
�� �� ��	 
	�����	

������
 α �� ������������ β = f(α) �
�� !?" ���� Qβ

d2 = nα2

(
βMAX

αMAX

)2

I. !%H"

#� �
�����	� )���	 ��� ����
�� ����������� 
	�	��������� �� ����
��� d2 < ε ��

���	 �.	
 ε� ��������� ���� �� ���	
 ����
 �� ��	 ����� ����	
 �� ���� !����
���
" αn ���� ��� �	 ���	�� 	��	

	
 !���� 
	-��
	� 
	�

������ ��	 �	
�� ��
!%H""

αn ≤ αMAX

βMAX

√
ε

I
n. !%%"



$����� *�
	�����	� ���������� �������� 	
 ε ���!�� ������	������ /B

#� ������� �� ��	 ������������� 
��	� �� �� ����
�� �� 
	��	 ��� 	��� 	���

r � αMAX√
IβMAX

!%&"

�� ��	 -������� ���� �	���
	� ��	�����
����� �	��
��� �� ���	
�	�� ��	������	��
�� ���� �	
 �-��
	 
��� �� ���	
 ��2	 �	
 �-��
	 
��� �� /0 
��	
�	��	� +	 ��	
��	 
��� 
��	 ��
 �����
��� ��	������	��  ��� � 8, ���	
 ��
	��
#� ��	 �	.� ��	�
	�� �
��	
 �� ��	 ���	�
�.�  	 	�������� ��	 	.���	��	 �� ��	

���� ������	�� �� ��	 
��� 
��	� ��	 ����	
 ����
������ 
��	 I� ��
 	.�
	�� ��
�� � ����	
 ��
��

������� �� $����	
 ����
������ 
��	(� ��� A = (aij) ����� ��� $( 
���	 �����
��� B� ������ �� ���	�# C = (cij)� 
�
��	� ��� ��������� ����	����� ����� ���
��	����>�� 6����	 ����	������ In(0)/n �

	��
��� � ����� ����� I �� n → ∞�
���� ����� 
�� �� �	����� �� I = cT Fc� ���	� c �� �������� �� �		������ C ����
� 
����� ��
��	 �� ��>� N2 ���� �������� cij �

! ��� ���	�# F �� ��>� N2 × N2

�� ������ ���� �� ��	�� �� ���	�# A ��� ���� ��� ��
��� �� ��� ���������
����	����� ��� �������� �� ���	�# F �	�

f(i,j),(k,l) = [j = l]V (i, j, k) − U(i, j, k, l), !%'"

���	� �� ��� %��	��� �������� [j = l] �� ��� �� j = l ��� >�	� ����	���� ���

V (i, j, k) =
( ∑

z∈X
πzazi

azk

azj

)( ∑
z∈X

aiz
akz

ajz

)

U(i, j, k, l) = πi

(
aik − ail

ajk

ajl

)
+ πk

(
aki − akj

ali

alj

)
.

$�	����	� |In(0)/n−I| ≤ C/n ��	 ���� 
������� C� ���� 
������� ��
���� ����
�� ��� �������� �� ���	�# A ��� ��� �� ��� ��������� ����	����� ��� ����	���

��	� I(c) = cT Fc �� ������������ �� ����	���

*� ����	����� ��	 �
��� �� ��	 ��	�
	�� ��	 ���
�. F ��� �	 �		� �� ��	 ����	

����
������ 
��	 ���
�.  �
��� ��	 ��
��	�	
� {bij |1 ≤ i, j ≤ N}� #� 
	��
��	� ��	
����
�� �	��������� �� ��	 ���	
 ���
�	 �� 8# 	��	

���� ��	 -��

���� ��
� ��	�
������	� ��	�	 �	���������	�  ��� ��	G��	��� ���	� �� ��	 ��	���� 	��	

���
�	���
 ��
 ���� � �� �� 
	������	 ��	 ���
����� 
	�	��������� ����	
 �� ��	
���	
 ���
�	 �
�� ��	 
	�	��������� ����	
 �� ��	 	��	

��� ����
�����

��������� 
� 6�	 ��� �
�
��� 
��� ���� ��� $( ������	���� �� �� ������ 
���	
���	
� ���� ����	������� P = π� ��� 6����	 ����	������ 	��� ���
����� ��

I =
∑

i,j,k∈X
cij

πiπk

πj
ckj .

� 1�� 	���� 	
 �������� �� C �� ���������� �� 
�� �� ��� ���� 	������� �� !��� 
	� �����
(i, j) ��� (k, l) �� �����( F#



3C 1# $����� ��� 2# $�������

� ���
�
�
�� ��� ���� ����

#� ��	 �
	����� �	������  	 	��������	
 ���� ��	 ��	�����
����� �������� �� ���	
�
�	�� ��	������	�� �����
 �	 �	���
	
 �� ��	 
��� 
��	 !%&" 
	��	
 �� ��	 ������

�	
 �-��
	 
��� �� ��	 ���	
 ��2	 ��
 �	
 �-��
	 
��� �� /0 
��	
�	��	� ��	 ����
����
���� ������	�� �� ��	 
��� 
��	 �� ��	 ��	������	�I� ����	
 ����
������

��	� ��
  ���� �� �������� ��
�  �� 
	
��	
 �� ��	�
	� &� ��	 ��	�����
���	

�� ���	
	��	
 �� 
	������� ��	������	�� !��
��� C"  ��� ��	 ����	�� �������	 
���

��	� ���� ��� �	 ����	�	
 �� ������2��� ��	 ����	
 ����
������ 
��	 �
 �� 	��
�	

��� ������� �
�� � ��
�	
 ������	�� ��	�� ���
	����� ��	 
���� αMAX/βMAX �
#� ���� �	������  	 
	��
��	 � � �	�	
�� ��
��	��	� ��
 ��.���2��� ��	 
��� 
��	
���� �
	 ���������	 �� �
������� ��	������	��� #� �	����� 6�  	 

� �����������
�
�� 	.�	
��	���  �	� ��	�	 ��
��	��	� �
	 �����	
 �� 
	�� ���	
 ���
�	� ��
�	

�� 
������ ����	��
*	��
	 �
��		
����  ��� ��
��	
 �
���	����  	 ����� ��� ���� ��	 ����	��


��� 
��	 �� ��������� ������	
  �	� ��	 ����	
 ����
������ 
��	 �� 2	
�� I = 0�
���� ��� ����	� ��
 �����
����� 	��	

��� !C �= 0" �� �	
���� ���
�	� �	����	
��	 ����	
 ����
������ 
��	 �� � �	��
	����	 -��

���� ��
�� ���� ��	������	���
�� 	�	
�  ���
 �	 �	
�	���� �	��
	 ��
 ���� �� )��������� ' �
	 	.���
	
 �
��
��
 �����
	
������#

��	 ����	
 �� ����� αi� ���� ��� �	 	��	

	
 �� 	��� ����	 i ∈ X �� ����
	

�� ��	 	��
��� �� ��	 i�� 
� �� B = I + βC� H(Bi•)� ����� �� ��	 ���� �	�	
��
�	������  	  ��� �� ��.���2	 ��	 
��� 
��	∑

πiH (Bi•(βMAX))
βMAX

1√
I

 �
��� ���
�. C� ��	 ������	�
 ��1	����	 �������� ���	� ��	 �������� 
���	
 ����
������	
 ��
 ��	 
	���� ��� 
	�	�
 �� ��	 
���
������� �� ��
���
��� ����	� π�
8�
	��	
� 	�	� ��  	 ��	 ��	 ������� ��������� ��
	 �		
� �� �	 ���	� �� ���	
�
�
	���� ���� 
	������ �	����	 � �
������� ����
���� ���� ��� �� �� ����������	
��	 	��
��� �� ��	 �

����	 ����	 ��� ��� �	 ��������	� +	 �
	 ���� � �
	 ��
� �	 �
������� 	��	

��� ����
����� ���� ����������	 ��	 ��.���� ������
�� ����
������ !0�* 	��	

���  ��� ����
� ������� ��
 ±1 	��	

���  ���
�	
��
� �������"� #� �
�����	� ���������� ��
������� $%9( ��� �	 ��	
 �� ���	
���	� �� 	��	
 ����
������ �� �

��� ����	  ��� � ��	���� ��� !���
�. C"� ���
��	 ��	���� ����
����� 
	��
��	
 �� $%9( �
	 �����������
#� ��	 
	�� �� ���� �	������  	 �
	�	�� � � 
�B	
	�� ���
����	� �� �� ������2	

��	 	��	

��� ����
���� ��
	
 
�B	
	�� �	������ ���� �
	 �
��������� 
	���2���	�

��
 �����������	 �� ��	 �! �����	����	 �� "	�#	 $����%�

;�	 �����	 ��
 �
������� ���
���� �� ������2	 ��	 	��	

��� �	���
 �� ���
����	
 �� ��������� 	.������ ��	������	�� S(1) ��
 S(2)� ������	 )���	 ��


� �� �(����� 	
 �!�� � ����	������ �� '�� ��������� �� �#�#�# �	"��� ���� π2i = π2i+1


	� ��� i#



$����� *�
	�����	� ���������� �������� 	
 ε ���!�� ������	������ 3,

*�� 	��	
 � ��
���� �� ��	 �	����	 ���� λn 	�	�	���� 0 < λ < 1� ����� S(1)

��
 ��	 ��	 
	������� (1−λ)n 	�	�	��� �� 	��	
 ��	 
	�� �� ��	 �	����	 �����
S(2)� #� ���� ��
��	� �	�	�� ��	 	�	�	��� ��	�
��
��
���� ���	
 �� � ��	�� �	��
��	 ������ �� � �����	 ���	
 	�	�	�� ����� � � 
���
������� ������	
 �� � ����
�	. ����������� �� ��	 ����	 ���� �� ���� �	���
�� C��	 ���� ��	 �	���
� �
	
���� 	
 �� 	��	
 � 
�B	
	�� ����	
 �� ���� �	
 ���	
 	�	�	�� ����	 *�� ��� �
 ���� ������ �� 	.�
��� �
�� 	��� ��
� �� ��	 ��	�� ��1	��� 0	� S(i) 
	�
	�	��
��	 i�� 	��	

��� �	���
  ��� ���
�. C(i)� �
 ��� �	���
 
	�
	�	������� c(i)�

 ��� 
���� ρ(i) = α
(i)
MAX/β

(i)
MAX ��
 i ∈ {1, 2}� ��	 
��� 
��	 r(λ) �� ��	 �	���


������	
 �� ��	 ����	 ���
���� !����	. 	��	

���"  ��� ��
��	�	
 λ ��� �	
 
���	� ��

r(λ) =
λρ(1) + (1 − λ)ρ(2)√

(λc(1) + (1 − λ)c(2))T F(λc(1) + (1 − λ)c(2))

=
λρ(1) + (1 − λ)ρ(2)√

λ2I(1) + (1 − λ)2I(2) + 2λ(1 − λ)I(1,2)
, !%3"

 �	
	 I(i) �� ��	 ����	
 ����
������ 
��	 �� S(i) ��
 I(1,2) =
(
c(1)

)T
Fc(2)� @	
	�

 	 ��	
 ��	 ����	�
� �� F ��  
��	 I(1,2) = I(2,1)�

��� $�	�����	� ��� ������ �	��������	 ����

#� �� ���	
�����	 �	����  	 
	��  ��� ��	 �
���	� �� ������2��� ��	 ����	 �� ��	
�

����	 ����	 ��� ��
	
 ��	 ���������� ���� ��	 ����	
 �� ����� αi� 	��	

	

�� 	��� ����	 i ∈ X �� ��������� ��
 	.����	�  	 ���  ��� �� 
	�	
���	 ��	
������� ��� ����  ���
 ���� �� �� ����������	 1 ��� �	
 	�	�	�� !αi = 1�
∀i ∈ X " �� �������� 	��� ���	
 	�	�	�� �� �� ���� 1� #� ���� �
���	�� ��	 
����
αMAX/βMAX � ��  	�� �� ��	 ���	
 ��
	� !���
�. A"� �
	 �.	
 ��
 ��� �� ��	
���� �� �� ������2	 ��	 ����	
 ����
������ 
��	 I�
+	 ��
�����	 ��
 ������2����� �
���	� �� 
	��
������ ��	 ��
� �� ��	 ���
�.

C = (cij)� �
 ��� �	���
 
	�
	�	������� c = (cij) ∈ RN2×1� �� ��	 ����� ��� ���	�

��
��	�
�� ��
�

c = Dv + e, !%6"

 �	
	 D = (dij) �� � �����
��� 
	�� ���
�. �� ��2	 N2×k� e �� � 
	�� ������ �	���

�� ��2	 N2� ��
 v = (v1, . . . , vk)T �� � k�
��	������� ������ �	���
� +	 �����	
v ∈ V �  �	
	 V �� ����
	
 �� � �	� �� ���	�
 ��	-������	�( ��
 ��	 �����
����∑

j cij = 0 ��
 ��� i ∈ {1, . . . , N}� #� ���	
  �

��  	 
	������	 ��	 ���
�. C

���� k 
	�� ��
��	�	
� vi� i ∈ {1, . . . , k}� ��	 ����� ��� 	.����	 ��� � ��	 ����

	�
	�	������� ��
 � ��	������	�  ���	 	��	

��� �����	� �
	 �� ���� 1�

?#��
�� -� $�
�
������� 	��	

���(� +	 �	� cii = −1� ci,i−1 = vi−1� ��
 ci,i+1 =
1 − vi−1 ��
 i ∈ {2, . . . , N − 1} !��
 �������� 
	��	
 �� ��	 ����
�
�	�"� ����
���� � �� �� ��
	� ±1 	��	

���� 0�* 	��	

���� ��
 ��� �������	 8# 	��	
�

��� �	���
� ���� ��
��� 	�	
� 	�	�	�� �� �� ���� %� *� �	����� cii = −1 ��

� �#�#
 �� �!�� ��"� B ≥ 0#



30 1# $����� ��� 2# $�������

��� i�  	 �����
��� ��
�	��	� �� ��	������	�� ���� 	��	
 ��	 ���	 ������
 ����
	�	
� ����	 i ∈ X ��
 ��� β ≥ 0� ���� ��
	� ��� k = N − 2 ��
��	�	
� ��
 ��	
�	� V �� ��
�	
 �� vj ∈ [0, 1]� j ∈ {1, . . . , k}�
;�
 ���� �� �� ������2	 ��	 ����	
 ����
������ 
��	 ��
 	��	

��� �	���
�
���	� �� !%6"� ��	 �������� I(v) = (Dv + e)T F(Dv + e) ��� ������ ��� �������
	���	
 �� � �����  ��� � 2	
� �
�
�	��" !� �
������ �����" �
 �� ��	 ����
�
� �� V �
+	 �� 
	
��	 � �	� �� ���	�
 	-������� ��
 ��	 �	� �� ��� �������	 �
������ �������
���� ���
����  ��� �	 ��	
 �� �	����� 6 �� �
��	 ���� �	
��
� ±1 	��	

���
�� �������������� �������  ����� ��	 ����� �� �
�
������� 	��	

��� �� �������

������
��
 ��
 ��
��	�
�2������ ��	 �
�
�	��  �
��� 	�	
� ��
��	�	
 vj ��� �	 	.�

�
	��	
 ��

∂

∂vj
I(v) =

∂

∂vj
(Dv + e)T

F(Dv + e) = 2(D•j)T
F(Dv + e),

 �	
	 D•j �� ��	 j�� ������ �� ���
�. D� *	����	 	�	
� �������	 ���
�
��	 v0

��
 ��	 ������� ��
��	�	
� ���� ������� (∂/∂vj)I(v)|v=v0 = 0 ��
 	�	
� j ∈
{1, . . . , k}� ��� �
������ ������ �
	 ��������� �� ��	 ����� ��� ���	�
 ����	�

D
T

FDv = −D
T

Fe. !%7"

#� ���� ����	� ��� � ���-�	 �������� v0 ∈ V � ��	� v0 ��

	����
� �� ���
�. C

����	���� ��	 ������ ������� �� ��	 ����	
 ����
������ 
��	�  ���� ��

	����
�
�� ��	 �	�� 8# 	��	

��� �	���
  �
��� V ��
 � ���	� 8, ���	
 ���
�	�

� �����
����


#� ��	 �
	����� �	������  	 ������	
 � � ��
��	��	� ��
 ��.���2��� ��	 
���

��	 ��
 �
������� ��	������	��� ���� �	����� �
	�	��� ��	���� 
	�����  �	� ��	�	
��
��	��	� �
	 �����	
 �� ��	������	�� ��	
����� �� 8���� �
�������	 ����	� 
	�
	�
�	��	
 �� ��	 ������� 
������ )������� ����	� �
	 � � 
��	������� ��1	���  ���
������� 
	�	�
	���	� �� ���� 
�
	�������  	 
	�
	�	�� ��	� �� � 
� � ��	 �������
�� � �
����

	
 8�
��� ,���� ��	
 X = {0, . . . , 255}� ��	 8, ��
	� 
	�
	�	���
��	 �
�� ��
 �����	�� ��	� �� �����
��� ��.	� 
	�	�
	���	�  ���	 ����� 
	�������
��	 ����
���� �
������	 �� �	��� ������������ �
������	� ��	��  	 �
��� � ��
��
�	�
�� ��
	� ��
 ��	 �
�������� �
��������� ���
�. �� ���� 8�
��� ���	
 ���
�	
��
 ��� ���� �� �� � ���
 �� ��
 ��	 	���
���� �
�������� �
��������� ���
�. A

	������	
 �
�� � ��
�	 ����	
 �� ����
�� ����	�� +	 ��	 ��	 �������� ��
	� ��
	������	 ��	 
��� 
��	 !%&" �� �	�	
�� ��	������	�� ������	
 �� � ����	. ��������
����� �� ��� � �	���
�� ��������  	 ��� ���� ��	 ������� 	��	

��� ����
����
���� ��
��	� ���	
 	�	�	��� �� �� ���� 1 �� �	
� ����	 �� ±1 	��	

����
#� �
������	� �� �
�����	  	 ����
 ��������	 ��	 ����	
 ����
������ 
��	 �����

	-������ !%'"  ��� �� 	���
���� ���
�. A 	������	
 �
�� � ��
�	 ����	
 ��

� �	�� ���� ��� ������+�������� 	
 F �!�������� ���� ��� �(����!� �!�� �� �
�����!�#



$����� *�
	�����	� ���������� �������� 	
 ε ���!�� ������	������ 3/

����	�� @� 	�	
� ���� ���
���� ��� ���	 ����	�
��� 
	����� �	����	 !%'" �� -���	
�	������	 �� ����� �	
��
������� �� aij  ��� � ����� ����	 !���	
�	 ���� I = +∞
�� aij = 0"� +	 
� ��� 	.�	�� ���� �� �	 �� ����	 �� �
�����	 ����	 
�
	 �
���������
�	� 		� 
������ ����	� �
	 �
�����	 ��� ����	�� 
	�	�
	���  ���� ���	� ��	�

�G���� �� �	 �����2	
 ��
 ��	���������� *	����	 ����� ����	� �� aij ��� ��� �	
����
��	�� 	������	
 �� �
�����	�  	 
	�
	�	�� ��	 ���
�. A  ��� ��	 ����� ���
��
��	�
�� ��
	�

aij =
1
Zi

e−(|i−j|/τ)γ

, !%9"

 �	
	 Zi =
∑256

j=1 e−(|i−j|/τ)γ

�� ��	 ��
����2����� ��������� ��	 ��
��	�	
 γ
����
��� ��	 ����	 �� ��	 
���
��������  �	
	�� τ ����
��� ��� J �
���K ��	 ��
	�
��
��	�	
�  	
	 ����
 �� ��	 ����
������ 
����� ����� ��	 �	��� �-��
	 �� �	�
� 		� !%9" ��
 ��� 	���
���� 	������	� �� ����
��	 ���� ��
	��  	 ��

�	
 ���
��	 �	��� �-��
	 �� �	��
��	�� ��
 ��
		 ����	 
������	�L �	�	
 ����
	��	
 ���
��	� ���	� �� �	�	
�� 
������ ���	
��� !,)84)+"� 
������ ������� !C4,�"�
��
 
	����
	��	
 �=:> ����	��� !C4,���=:>"� ����
	 & ��� � ��	 �����
�
���� �	� 		� ��	 	���
���� ���
�. A 	������	
 �
�� ��	 ,)84)+ 
������	
��
 ��	 ��

	����
��� ��� )������� ���� ��
	� ������ �����
	 ���	 ����
����
���
������� �
��	
��	� �� ����
�� ����	�� ���� �� ��.	� ����
������� �� 
	�����
������������ �
������	 ��
 �� ����
 ��
 ���� ����
�� ����	��

	
�� 
� '�
�D ��	� 	
 ��� ��������� �����( A ��������� 
�	� ���E�F �������� ��
�	� �	����# E����D �	������	� 	
 ��� 128�� �	� 	
 �����( A ��������� 
�	� ��� ����
�������� ���� ��� �������� �	��� :,=;#

��	 �	�� ��
� �� ����
	 ' ��� � ��	 
��� 
��	 !%3"� r(λ)� ��
 � ����	. ��������
���� �� 0�* ��
 ±1 	��	

���� λ ∈ [0, 1]� ��
 
�B	
	�� ����	 ���
�	�� ��	 ����	

	 �(������ "����	� 	
 ����E�GE�F �������� 
�	� 5,A6 ���� 4547 8 ��� ������#

�
 �	������ 2375 ��� ����� 	
 ������"�� �	���� 
�	� ��� ���� ���!��� E��	!����
�	����"���	� ���"��� :��������������

�����������������;#

�� *����� 
�	� �E�� �������� �	�������� ���� 2H�> %!����� 
���	� 70#
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�� �� '�
�D ��� �		� ���� r(λ) = αMAX/(βMAX

√
I) 	
 � �	�"�( �	�������	� 	


'�� ��� ±1 ��������� 
	� ��<����� ����� �	!����# E����D 	������ ���������� v =
(v1, . . . , v254) 	
 �* ��������� :,4; ������)��� ��� $����� ��
	�����	� ���� ����� �	� 
�
���� �	"�� �������� �� �� �	�� 1# 1�� ��<������ ������� ±1 ��������� ��� 	������
�* ��������� �� �!� �	 �	!����� �<���� ���� "����� �� N → ∞#

��	 
��� 
��	 r(λ)� ��	 �	��	
 ��	 ��	������	�� ��	 
	����� �
	 �������	��  ��� ��	
��	��� ���� ±1 	��	

��� �� �	�� 
	�	�����	 ���� 0�* 	��	

���� ������
��� ��	
�������� �� ��	������	��  ��� ���	
� �
�� C4,� !�����" �� �	��	�	
 �� �	 ����	

���� ��	 �������� �� ��	������	�  ��� 
	����
	��	
 �=:>� �
 ����	� �
�� 
���
���� ���	
��� ���� ���� �� �� ��
		�	��  ��� ��
 
	���� ������	
 ��
 ��� ����	� ��
��	 ����	. ����������� �� 0�* ��
 ±1 	��	

��� ��
  	 ���
����	 �� �� ��	
���� ���� ����� ������� � ����	
 �	�	� �� ����	 ���� ����� 	��	

��� �����	�� #�
����
�
������  ��� ��
 	.�	��������� 
	����
	��	
 �=:>� �
�� C4,���=:>
���	 � ����	
 
��� 
��	 ���� 
� ����	� �
�� 
������ ���	
�� !,)84)+"�
���� ��	���	��� �� �
������ ����	
 �� ��	 ���������� �� ��	 8, ��
	��  ����
����� �� �����
	 �=:> �
������� �	����	 ��	� ���� ��
��� ��
�	
 
������	� ����
�	�����
��� ��.	���
+	 �� ��	 ��	 �	���
����� 
	��
��	
 �� �	����� 3�& ��
 ��.���2	 ��	 
���


��	  ��� 
	��	�� �� ��	������	�� ���� ��
��� 	��� ���	
 	�	�	�� �� �� ���� %�
+	 
� �� ��
 ��	 ���	
 ��
	� �� ������	
 �
�� ��	 C4,� 
������	� )������� ��	
	��	

��� ��	
����� �� ����
�� �� ��� 	��	
 ��	 ��� �	
 ���	
 	�	�	��� ����� �� ��
��G��	�� �� ��
 ��	 8# 	��	

��� ���� ������� ��	 ������� ����	
 ����
������

��	� +	 ��	 ��	 ��
��	�
�2����� �
�� :.����	 % ��
 ����	 ��	 ����	� �� 	-���
����� !%7"� ���� ����	� ��� ���� ��	 �������� v = (v1, . . . , v254) ∈ V = [0, 1]254

��
 ���� �� 
	�
	�	��� 8# 	��	

���  ��� ������� ����	
 ����
������ 
��	�
���� �������� �� ��� � �� ��	 
���� ��
� �� ����
	 ' �����  ��� ��	 
	�
	�	����
���� �� ��	 ±1 	��	

��� ��	
������ ��	 ������� 8# 	��	

��� 
�B	
� �
��
±1 	��	

��� ���� �� ��	 ����
�
� �� ��	 
������ 
���	� ���� �� 
�	 �� ��	
����	 ����	
 �� ����	� �� ��	 8, ��
	�� +	 	.�	
��	������ �	
��	
 ���� ��	
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	�����	 ����	
 �� ����	�  ��� |vi − 0.5| ≥ δ �	�
� �� 2	
� ��
 � 
���	 �� δ > 0 ��
N → ∞ ��
 �.	
 ��
��	�	
� �� ��	 �������� ��
	���� ����� ��	 ����
�
� 	B	��
�� �	�������	 ��
 ��
�	 N � ���� ����	��� ���� ��	 ���� �� ��������  �	� ����� ±1
	��	

��� ����
���� �� �	�������	 ��
 ��
�	 N �
� �� ���	
  �

�� ±1 	��	

���
�� �������������� ��������

 ���	!�

��

#� ���
� ����
���  ��� ��	  	�� 	��������	
 ���� ���� ��	 ��	�����
����� ��������
�� �	
�	���� �	��
	 ��	������	�� ���
	��	� ���	�
��  ��� ��	 ����	
 �� ���	
 	�	�
�	���� n� � 
	�	���� 
	
��	
 
	���� ����	� ���� ��	�����
����� �������� �� � -���	
 �
	 ����� �� ���	
�	�� ��	������	�� �� ���� �
���
������ ��

√
n� ��	 ��������

������ 
��	 �� ���	
�	�� ��	������	�� �� ���� ��������
�����	 �	����	 �� �	�
�
�� 2	
�  ��� n� #���	�
� �� ���
��
���	 �	���
	 �� �������� �� ��	 �������� ��
�
���
��������� �� �
��� ��

√
n� ��
  ����  	 ���� ��	 �	
� ��	 	��� 	���  ���	

���� �� ��� �	
 �-��
	 
��� �� ���	
 ��2	 �	
 �-��
	 
��� �� /0 
��	
�	��	� ��	

��� 
��	 �� ��� � �� �	 ���	
�	�� �
���
������ �� ��	 �-��
	 
��� �� ��	 ����	

����
������ 
��	 �� ��	 ��	������	�� )
������ � 8�
��� ��
	� ��
 ��	 ���	

���
�	�  	 
	
��	 �� �������� ��
���� ��
 ��	 
��� 
��	  ��� ����	
 ����
������

��	 	.�
	�����	 �� � -��

���� ��
� 
	��	
 �� ��	 ���	
 �
�������� �
���������
���
�. 	������	
 �� � �	���
 ����� 
	�	
���	
 �� ��	 	��	

��� ��	
������ ����
�������� ��
� �� ����
���� �� �� 	����	� �� �� �����
	 ��	 �������� �� ���	
�	��
��	������	�� ��  	�� �� ������2	 ��	�
 	��	

��� ��	
����� !��.���2	 ��	 
���

��	"� +	 �� � ��
��	�
�� ��
	� ��
���� ��	 	���
���� �
�������� �
���������
���
�. ��
 �	�����
��� ��.	�� �� 
	�� ����	� ��
 ��	 ���� ��
	� �� ������	 ��

�����
	 ��	 
��� 
��	 �� ��� � ��	�����
����� ���	�	� ��
 ��	�
 ����	. ����
���������� #� ��
		�	��  ��� 
	����� �
	������� 	��������	
 	.�	
��	������ �����
����
 ��	������2	
�� ��
 �������� ��
����	� ���� �	
��
� ±1 	��	

��� �� ��
	
�	��
	 ���� 0�* 	��	

��� ��
 �� �� ���� ������� ����� ��� 	��	

��� �	���
�
���� ��
��� ��.	�� �� �� ���� %� ��
��	
��
	� �� �����2��� ����	 
������	� ��

� ����	� �
�� 
�B	
	�� ���
�	��  	 	��������	
 ���� ��	 
��� 
��	 �� ��
�	

��
 ����	�  ��� ����	
 ����	 �	�	� �� �� �� �	 	.�	��	
� )���� ��	 ��
�
�����

	����� �� ��
 	B�
��  	 ����� ��� ��	 ���� ���� ��	 
��� 
��	 ��
 ±1 	��	

��� ��
���� ����� � ��	 ��
�	
 ���� ��
 0�* 	��	

����  ���� ����
����  ��� ��	 ����
���� ��

	�� �	�� ��	������2	
� ��
 0�* 	��	

��� �
	 ��
�	
�� ��
	 ����
��	
���� ��	 �	�� ��	������2	
� �� ±1 	��	

���� ���� ����� �� ��	 	.���	��	 ��
������������ ��
	 ����
��	 
	�	���
� �� ±1 	��	

��� ���� �
	 �	� �� �	 ����
�
��	 
	����� �
	�	��	
 �	
	 �B	
 �	�	
�� ���	
	����� 
	�	�
�� 
�
	������  �
��

��
����� �� ��	 ����
	� #� ��
������
�  	 ��� ���	��� �� 
	�	
���	 ��	 	��	
�

��� ��	
����� ���� ��.���2	� ��	 
��� 
��	 ��
 � ���	� 8�
��� ���	
 ���
�	 ��
 �
 �
	
 ����� �� ���
��	� C� )

����������  	 ���	�
 �� 	.�	�
 ��
 
	����� �� �=:>
����	� 
	�
	�	��	
 �� ��	 5,� 
����� ����� ���
��
���	 �������� ��
	���

�� F� �����"� ��� ���� �	 �� ��!� 
	� ��� δ > 0#
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��	  �
� �� ���� ���	
  �� �����
�	
 �� )�
 ��
�	 ;G�	 �� ���	����� 4	�	�
��
��
	
 ��	 
	�	�
�� �
��� ����	
 �)?66H�H<�%�HH<3� ��	 D��� >��	
��	�� �� ���
���
�2	
 �� 
	�
�
��	 ��
 
���
����	 
	�
���� ��
 >��	
��	���� ��
���	� ��� ����
����
��� ��� ����
���� �������� ��	
	 ��� ��	 ��	 � ��
 ����������� �������	

�	
	�� �
	 ����	 �� ��	 �����
� ��
 �����
 ��� �	 ���	
�
	�	
 �� �	�	���
��� 
	��

	�	����� ��	 �G���� ������	�� 	���	
 	.�
	��	
 �
 �����	
 �� )�;�4 �
 ��	 D���
>��	
��	���

�������	�


,# F���
 �#
 �	!���
 H#D H��
����� ���!�� ������	������D ��������
 ���	� �(�	�����

��� �	�� �	����!���	��# *��� 1��������	�� 	� *�
	�����	� 1��	��
 ������� *��!�
	� ���!���� :2!�� 0CCA;

0# �	������
 H#
 HI��) >	�)J���
 $#D K� ��� �������� 	
 ����	�������# *�D ��������

2#
 $�������
 2# :���#; H�	�������� 	
 ��� B�� ��� �!�������� L ���!���� F	�� 
��	�
 ������
 1M
 ��������� 0C 0,
 ��# /N,3 :0CC=;

/# 9������
 2#2#
 H�������
 F#�#D �������� 	
 ������	������� ��������# �!�������
�	 *��� 1��������	�� 	� *�
	�����	� 1��	�� :0CCA;

����������	��������������� �!�

3# $�����
 1#
 $�������
 2#
 &��
 �#�#D 1�� �%!��� �		� ��� 	
 ������	������� ��������

	� ����	" �	"���# *�D ����
 �#2#
 F	��
 H#F#
 ���	�
 �#
 ��������
 2# :���#;
H�	�������� �H*�
 ������	��� *������
 ���!���� ��� $	������� 	
 �!�������� M*

��� 2	��
 ��
 2��!��� ,A 0, :0CCB;

4# &��
 �#�#
 H�"�O
 1#
 &	�	"��O
 2#
 $�������
 2#D 1�� �%!��� �		� ��� 	
 ������	 
������� ��������# *�D &��
 �#
 ��������
 2#
 $�������
 2# :���#; H�	�������� 	

��� ,C�� ��� �!�������� L ���!���� F	����	�
 K(
	��
 �&
 ��������� 00 0/

��# ,C=N,,8 :0CCA;

8# &��
 �#�#D � �������� ���!�� 
	� ����� ������	������# *��� ������ H�	�������
'������ ,3:A;
 404N40A :0CC=;

=# $�����
 1#
 $�������
 2#D �	������ ����������)���	� 	
 ���
����� ���!�� ����	 �������
���� �!�!���� ����������� ��������� 	������	�# *�D H�	�������� *���
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